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1. Solve this system of inequalities by graph.
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6x + 3y < 24 2x + 6y < 18
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2. Without solving, state the number of solutions to each system of equations.

a) b) c)
y=2x+7 y=—=5x y—3=——%—(x+8)
2x + 4y = =28 10x+2y =6 6x + 4y = -36
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2. Without solving, state the number of solutions to each system of equations.

a) |

y=2x+7 ’\ , |

2x + 4y = e «
4

—2& -2y oY~
\/f 4 )< _

G“L o =~ “/&X

Savv¢ al"'(

B e c) @AY oL
y=-sx F2o) 0 y-3=-36+8) > Y -3 = k-
LIOx+2y 6 | \‘ 6x +4y = '36 d= R =
) Y;b IO)( L—) \/; ”5" —'(ax - _q 3/
— y T 17X

=B =5X



